DATE
QUESTIONS ON REASONING

Problem solving questions by understanding.

1) Anand says 79 tens is greater than 900. Sudeer says 79 tens is less than 900.
who is correct? Give your answer with explanation?

79 tens= __ tens + 9 tens
_____ones + ____ ones lten=___ ones
ones
790 900
79 tens 900
is correct.

2) Rekha says 5 hundreds + 7 tens is greater than 569 ones. Ravi says 5 hundreds
+ 7 tens is less than 569 ones. Who is correct give your answer with explanation ?

19 tens + 18 ones

T ___tens =1 hundred

1ten=__ ones
____tens +___tens=____ tens
= ones
.. 570 ones is 569 ones
5 hundred + 7 tens 569 ones

is correct.
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